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CBA Practice paper model answers 

Basic Accounting II (BAII) 
Practice assessment 1
Section 1
Task 1.1
[image: image2.png](a) What entry would be made in the suspense account to balance the trial balance?

ountname  Amount £

[suspense oeh

{b) Show which of the errors below are, or are not, isclosed by the trial balance.

[Recording a bank paymentfor heat and light o the debit side of both the
lbank and heat and light account.

[Recording a payment for motor repairs in the motor vehicies account
[Recording a sales credit note on the Gebitside ofhe sales Ieager contiol
laccount and the credit sde of the sales returns account v

[Incorrectly calculating the balance on the rent account.

[Recording a payment by cheque to a creditor in the bank account and
lpurchases ledger only.

[Recording a bank payment of £470 for motor repairs as £4,700 in both
laccounts.

SIS





Task 1.2
[image: image3.png](a) Record the journal entries needed in the general ledger to write off the net amount and the VAT.

‘Amount
£

v 1680

Account name Debit  Credit

Irecoverable debts.

VAT

Sales ledger control





Task 1.2 continued

[image: image4.png](b) Complete the journal by showing whether each amount would be in the debit or credit column.

“The Journal

|Commission received 175|
loffce equipment 1555

[Bank 308

|sales 3500
[Capital 7967
lofice expenses 876

|Loan from bank 15,000)

[Purchases 4754

IMotor venicle 18.632]

[Motorvenicte expenses 457]

[Joumaito record he opening entries of new business






Task 1.3
[image: image5.png]() Record the wages expense

Account name

[Wages expense

[Wages control

‘Amount
£

v 6966

Debit

Credit

Debit

Credit

Debit

Credit

Account name

[»]Trade Union

[Wages control

‘Amount

e
-

v 300

Debit

Credit





 Task 1.4

[image: image6.png](a) Identify the error and record the journal entries needed in the the general ledger to:

(i) remove the incorrect entry

‘Amount

Account name Debit  Credit

vaT

(il record the correct entry

‘Amount
£

Account name

Debit

(ii) remove the suspense account balance.

‘Amount

Account name Debit

[Suspense





Task 1.4, continued

[image: image7.png](b) Record the journal entries needed in the general ledger tc

(i) remove the incorrect entry

Account name Amount

Debit  Credit
[Premises repairs

[Bank.

(i) record the correct entry.

‘Amount

Account name Debit  Credit

[Premises repairs. -





Task 1.5

[image: image8.png]Office stationery

Details

‘Amount

Details

‘Amount

suspense

3
167

3

Rent and rates

Details

‘Amount

Details

‘Amount

3

suspense

3
1,800

Suspense
Details. Amount Details. Amount

Rent and rates 1800] [Balance bt 1,633
Ofice stationery 167

Bank interest received

Details

‘Amount

Details

‘Amount

Bank interest charged

3
98

3

Bank interest charged

Details

‘Amount

Details

‘Amount

3

Bank interest received

3
98





Task 1.6

[image: image9.png][Motor vehicles 34530) 3453
[Fitures ana fitings 7,350 7350
[Stock 7.300 7300
[Bank overdral 5521 5521
[Petty cash 00 00
[Sales leager contrl 100525 00625
[Purchases leager control 55.119) 6118
[VAT awing to Hill Revenue and Customs 8300 2300)
[Capital 22843 22843
[Sales 222955 222955|
[Purchases 112250 12250
[Purchases retums 5780 5870)
[Wages 25.700) 25700
[Wotor expenses 368 368
[ofice expenses 3354 EZ
[Rentana rates 443 aad]
[Featana lignt 2,155 2155
[lsurance 3,165 3165,
[Wiscellaneous expenses 2220 220
[Totais 317088 317088





Section 2

Task 2.1
[image: image10.png](a) Enter the details from the cash purchases listing, the creditor payments listing and cheque book stub
into the credit side of the cash-book shown below and total each column.

Cash-book — credit side

Dscomnt Trade cash General
Details 0 payables  purchases  repairs

lBatance b 1150

JBL Lt v 20 @ 0

Bocell Brothers v EES % 20

[BandB Boards v 7 7

Rosenta v 6] ] ]

[Bache Buiders v 112 T8 ai0)

otal 6] B = 74 7268 =0 3]





Task 2.1, continued

[image: image11.png](b) Enter the above details into the debit side of the cash-book and total each column..

Cash-book — debit side

- £
[Balance b 778





Task 2.1, continued

[image: image12.png](c) Using your answers to (a) and (b) above, calculate the cash balance. Do not use commas when entering
figures in this part of the question.

£ 202

(d) Using your answers to (a) and (b) above, calculate the bank balance. If your calculations show that the
‘bank account is overdrawn your answer should start with a minus sign, for example -123. Do not use
‘commas when entering figures in this part of the question.

£ 3479

(e) Will the bank balance calculated in (d) above be a debit or credit balance in Gold Ltd's accounting records?

[Credt balance





Task 2.2
[image: image13.png]CASH BOOK

|Briten & Bong.
[Mackin Lta
|Randle Fitments

Cheque
Number
111042
111043
111044
111045
111046
111047
111048

79|

170

7188

AlalA[A[A[A[A[A[A[A[A[AlAl4

(a) Check the items on the bank statement against the items in the cash book.

(b) Enter any items in the cash book as needed.

(c) Total the cash book and clearly show the balance carried down at 23 June (closing balance)

‘and brought down at 24 June (opening balance).




Task 2.2 continued
[image: image14.png](d) Complete the bank reconciliation statement as at 23 June.

Note: do not make any entries in the shaded bores.

Bank reconciliation statement as at 23 June 200X

> 22
>

P|Name: Mackin Lt 2 950
»[Name: Randle Fitments [z 300
> £ 1250
>

p|Name: WVR Lt |2 652
»[Name: Hakin and King 450
> 1102
> 170





Task 2.3

[image: image15.png]Use the relevant drag items below to:
(a) enter the above transactions in the petty cash-book below
(b) total the petty cash-book and show the balance carried down.

Each drag item can be used more than once. You may not need to use all of the drag items.

Petty cash-book
Debit side
Details (==

[Balance bt 11500 |Entertaining [35.90 [35.90
[Window cleaner 2500 2500
|Emergency plumber  |[25.20 420 2100
|Balance cia 2890

1500 115.00 [a20 2100 2500 [35.90






Task 2.4
[image: image16.png](a) Complete the petty cash reimbursement document below to restore the imprest amount of
£150.00 0n 1 July.

Petty cash reimbursement

Date: 1.07.201¢

[Amount requiredto restore the cash | 120.01
in the pety cash box





[image: image17.png](b) Complete the petty cash vouchers below.

Petty cash voucher Petty cash voucher
Date: 03.07.20XX Number. PCT21 Date: 06.07.20XX Number. PC122
Fuel Document wallets
Net £ 3800 Net £ 18.00
VAT B 760 VAT B 360
Gross. B 500 Gross £ 2760

() Whatis the new balance on the petty cash control account?

= [e280






Task 2.4, continued

[image: image18.png](d) Complete the reconciliation below.

The amount of cash n the pety cash boxtotals £ [33.20

|which reconcile with the balance on

the- petty cash control account.

[Petty Cashier





Task 2.5

[image: image19.png](a) Show whether each entry will be a debit or credit in the Purchases ledger control account in the
general ledger.

v
oo EE
oo e

(b) What will be the balance brought down on 1 July on the above account?

[preses7a

[cresagra

[bre<s 970

[cress 070

[bre<s 186

[cress 186





Task 2.5, continued

[image: image20.png](c) Reconcile the balances shown above with the purchases ledger control account balance you have
calculated in part (b).

[Purchases ledger control account balance a5 at 1July 45135
[Toal of purchases leager accounts as at 1 July 4790
Diference 292

(d) What may have caused the difference you calculated in part (c)?

[Goods retumed may have been omitted from the purchases ledger

[Discounts received may have been omitted from the purchases ledger

[Goods retumed may have been entered in the purchases ledger twice

[Discounts received may have been entered in the purchases ledger twice





Task 2.5, continued
[image: image21.png](©) Which of the following statements is true?

[Reconciliation of the purchases ledger control account assures managers that
line amount showing as outstanding from customers is correct.

[Reconciliation of the purchases ledger control account assures managers that
line amount showing as outstanding to suppliers s correct.

[Recondiliation of the purchases ledger control account will show if a sales invoice |
|nas been omitted from the sales ledger.

[Recondiliation of the purchases ledger control account will show if a sales invoice |
|nas been omitted from the purchases ledger.





Task 2.6
[image: image22.png](a) What will be the entries in the VAT control account to record the VAT transactions in the quarter?

Debit  Credit

[Sales retums

[Purchases

[Purchases retums

[Cash sales

vi[vi[vi[v][v]

(b) The VAT return has been completed and shows an amount owing from HM Revenue and Customs of
£13,846. Is the VAT return correct?

Yes





Task 2.7
[image: image23.png]Banks and building societies offer many similar services.

(a) From the st below select TWO services that are not offered by building societies.

Foreign Currency

Loan

Night safe facilties

‘Safe custody

SIS

‘Savings account

Telephone banking

(b) Show whether the following statements are true or false.

Abank cheque paid into a building society does not have to pass through the clearing system.

True

A building society cheque paid into a bank does not have to pass through the clearing system.

Abank cheque has to be passed to the bank of the issuer before the money becomes available.

[SESH

A building society cheque has to be passed to the bank of the issuer before the money becomes available.





Task 2.7, continued
[image: image24.png](c) Which TWO of the documents below are banking documents that must be retained by Kitchen Kuts?

Aged trade receivables analysis

Aged trade payables analysis

Bank statements

Credit cards

Debit cards

Paying in slp stubs

Remittance advice notes

Supplier invoices





Task 2.8

[image: image25.png](a) Select TWO checks that have to be made on each of the two payment methods shown below when
received from customers.

[Check expiry date

[Checkissue number

[Checknot post dated

[Check security number

[Checkwords and figures match

[Check card has not been tampered with

(b) Show whether each of the statements below s true or false.

When Kitchen Kuts makes payments to suppliers by credit card, the amount leaves the bank current account
immediately.

True

When Kitchen Kuts makes payments to suppliers by debit card, the amount paid does not affect the bank
current account.

SIS
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